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D 7.2,7.22 @ 7.2, 7.202 ® 7.02, 7.202

@ 7.002, 7.22 @7.002, 7.202
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7.102 - 6.902 = 0.2 Yt}
gk Ztof] 0.19HF FHol Al71 & stal 54T
A [ ]=6.902+ 0.1 = 7.002

SHA[ |=7.10240.1 = 7.202
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5 50] A2 W 7o) 4 9 RS DEAS
0.88 0.35
(1)
0.49 0.67
(2)

@ (1) 0.51 (2) 0.28
® (1) 0.52 (2) 0.28

® (1) 0.53 (2) 0.28
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@)(1) 0.53 (2) 018
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1) 0.88 - 0.35 = 0.53
2) 0.67 — 0.49 = 0.18
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12. AP E71 ARRre] $AS obagtey 7.6kgol gtk W A4
o A7} 1545 kg Ol W, AHke] RAE B kg Q1A FoHA L,

REESEE)
— (A} B AR Bl - (1AL 2] S A)
= 7.6 — 1.545 = 6.055(kg)




13. the A.B.C.DO] ok £59] G2 FotAlL.,

;

7.8241 3,74 A

458 | 3,247 B

>
> ZHEF: 23.128

A 7.82443.74 = 11.564

B : 4.58 + 3.247 = 7.827

C: 3.74-3.247 = 0.493

D : 7.824 —4.58 = 3.244

. 11.564 + 7.827 4 0.493 + 3.244 = 23.128
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[ ool 9wre 8 A2tz 78 AL o= AU

(1) 3.64= 0010 [ ]9l #9Ych
(2) 8.06-20.001°1 [ |91 Yt

D (1) 3.64 (2) 806 @ (1) 3.64 (2) 8060

® (1) 36.4 (2) 8060 @ (1) 364 (2) 806

O

®)(1) 364 (2) 8060

B

(1) 3.64 = 3+ 0.64

32 0.01°] 3000] 1, 0.64= 0.01°] 640] 22
3.64=0.01°] 36421 =JYrct.

(2) 8.06 = 8 4 0.06

8-20.001©] 8000 ©] 1 0.06-Z 0.001 ©] 60°] =&
8.06-2 0.001°] 8060 %1 =AYtk
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@7, 98], 40 A ARl 718 AU Dol gule] 7]
e 32m, @olst 4019 719 e 3L, Frist %

v
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(040191 7)) + (3711 71) = 32(m)
(0gele] 7)) + (4318l 71) = 31(m)

(@R8] 7]) + (3019 A1) = 3

o|E= 3719 A& R H5tH
{(@Ae1947]) + (T117]) + (5201 917]) }
><2=3§+3%+3%1 =9;=10(m)

Al ArEe] 71] k] 281 7F 10m o] B2

Al ArEel 719] &2 5m AUt

(F1A0]9] 7]) + (Fu]2] 7]) + (£F0]2] 7]) = 5(m)°] L,

(w19 7]) + (4:710]9) 7]) = 3
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